1. Show that (x+1)(x+2)(x+3) can be written in the form  $ax^3 + bx^2 + cx + d$  where a, b, c and d are positive integers.

$$(x+1)(x+2) = x^2 + 2x + 1x + 2 = x^2 + 3x + 2$$

$$(x+3)(x^{2}+3\alpha+2)$$

$$= ((x+3)(x^{2})) + ((x+3)(3\alpha)) + ((x+3)(2))$$

$$= (x^{3}+(3x^{2})) + (3x^{2}+(9x)) + (2x+6)$$

$$= x^{3}+6x^{2}+11x+6$$

(Total for Question is 3 marks)

No, become trocky should multiply 8 and 7, refres than

**2.** Solve 
$$(x-2)^2 = 3$$

Give your solutions correct to 3 significant figures.

$$(x-2)^2 = 3$$
  
 $x-2 = \pm \sqrt{3}$   
 $(+2)$   $(+2)$   
 $x = 2 \pm \sqrt{3}$   
 $x = 2 + \sqrt{3} = 3 \cdot 732...$   
 $x = 2 - \sqrt{3} = 0.2679...$ 

3.73 , 0.27

(Total for Question is 2 marks)

3. (a) Factorise  $a^2 - b^2$  Difference of two squares (D.O.T.S)

$$(a+b)(a-b) = a^2 + ab - ab - b^2$$
  
=  $a^2 - b^2$ 

(a+b)(a-b)

USE information from part a (b) Hence, or otherwise, simplify fully  $(x^2 + 4)^2 - (x^2 - 2)^2$ 

$$0 = x^{2} + 4$$

$$b = x^{2} - 2$$

$$a = x^{2} + 4$$

$$b = x^{2} - 2$$
Seen in part a
$$= ((x^{2} + 4) + (x^{2} - 2)) ((x^{2} + 4) - (x^{2} - 2))$$

$$= (2x^{2} + 2) \times 6$$

$$= 12x^{2} + 12$$

$$= 12(x^{2} + 1)$$

$$12(x^2+1)$$
 (3)

(Total for Question is 4 marks)

dusn't fit trend - far from other Pounts / Line of best-fit

It is not in line with the trend of the other points

Extrapolation -> extending anaph beyond platfed Points is untilible as we tain the sure from the tred will continue

The point would be outside of the range of the scatter diagram

4. Expand and simplify 5(p+3) - 2(1-2p)

$$((5xp)+(5x3)) + (-2x1)+(-2x-2p))$$
=  $(5p+15) + (-2+4p)$  (1) Expanding 1 bracket
=  $(5p+4p) + (15-2)$ 

9p+13 (1)

(Total for Question is 2 marks)

**5.** (a) Expand and simplify (x + 5)(x - 9)

Front Outside 
$$(x+5)(x-9) = x^2-9x+5x-45$$
  
Front Outside  $= x^2-4x-45$ 

 $2^{2}$   $2^{2}$  4x 45

(b) Factorise fully  $9x^2 + 6x$ 

$$9x^{2}+6x=3x(3x+2)$$

3x(3x+2)

$$29^2 - 4.6$$

$$\sqrt{35 - 1.9^3}$$



